DIvISION WITH A REMAINDER II (H - SET 5)

DIVISION WITH A REMAINDER 1;;1 -
331 15462 +4 = 316) 29585 + 4 =
332 56631 =— 9 = a7 21997 + 9 =
333) 25520 + 5 = 318) 1029 + 2 =
331 16670 =+ 2 = 319 673 +4 =
335) 22034 -6 = 350) 62008 + 7 =
336) 48487 + 10 = 1) 14416 + 3 =
337 1934 =— 3 = 352) 13074 = 3 =
338 95552 + 10 = 353) 22374 + 3 =
339 68072 + 8 = 354 27655 + 6 =
310) 22425 + 8 = 355) 8884 + 9 =
3 9493 =8 = 356) 11200 +5 =
312) 29350 =+ 3 = 37 6561 + 7 =
s13) 12770 + 2 = 358) 18296 + 6 =
31 2068 = 3 = 309) 4485 + 3 =
3150 1731 =2 = 3600 15143 =5 =
Mathematics: Division - Level § - Horizontal - Set 5 13 uluy
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